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Note: Write Answers to the Questions on the objective answer sheet provided. Four possible answers A, B, C and D fo each question are given. Which
answer you consider correct, fll the corresponding circle A, B, C or D given in front of each question with Marker or Pen ink on the answer sheet provided.

11 The unit of spring constant is: | PROZ A P B
(A) Nm (B) Nm-t (C) Nm2 . (D) N
2. Waves transfer: g S Py 2

Wave length

g, (D) Velocity v _

(A)  Energyds (B) Frequencyd£; (6)

3. The unit of intensity of sound is:
(A) Wm- (B) Wmt C)

4. At25°Cspéed of sound in wood is: 4
A 2500ms*  (B) 2000ms'  (C)
5. The radius of curvature of a converging miror | b 5
" 20cm; ts focal length will be: 2. :
(A) 10cm (B) -10c
6

6. The electric field lines are:
it e St

- Always cross each othéf:
w 4
. . s
(C) . Cross each other e 0 other in the region of weak
" ' field -
d/::’fé_/».{fufll}il.bi?#’
7. The leafs wz.nz,_'%é.{k/‘?i T
(A) Gold 47 (D) Aluminiumz "
8.  The unit of e W L 8 ,
(A) © am? 0  Q.m
9. Thetumra Fl0ePSn bl s iz fi 9
(A ©  Ns=10Np O  wvs='P
» 10 : 10 2
10.  The out put of Nand gate is “0” when: o :/TJ A 0CeguslfeS s 10
(A} A=0&B=0 (B) A=1&B=1 (C) A=0 orB=0 (D) A=1 or B=1 i
1. Which of the following is not processing: e Ly Pl A1
; : Manipulating 2 Calculating (-
W gz @ B - B /j, " (D) Gatherig/i21
12. The safe limit of radiation absorbs in a yearis: e wbP S PSRt 12

ﬁ A TremeA  (B) 2reme.2 (6) : 3reme.3 D) dreme, 5
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SECTION-| i
2. Write short answers of any five parts from the following:  (2X810)  :/% Zcppz & Lo éga_éf St 2
i. Define frequency and write its unit. Ny j'g;!/,luf"/ YA
i, Write down two taws of reflection of light. il FESF
ii. Explain OR operation with the help of truth table. < Lol /r,")::’ Ailber i dii
iv. Whatis wave motion? te dnififry WV
v. What s refractive index? Write down its formula. JS L f IRt ks, N
W Fid e e oo O3S s <L Gl Lg
vii. State Snell's law, write its formula. -J."” Uy Kl S iJuJG.&f-" Vil
viil. Vhat do you mean by restoring torce? ik, Vi
3.*  Wite short answers of any five parts from the following:  (2X5=10) =z 7 N4 ég edfddies 3
i. Whatis difference between the loudness and the intensity of sound? G ST
ii. Write any two uses of uitrasound. = e §I Lk i
i. Describe the two factors on which a safe level of noise depends. : oL i
. Define the electric field lines. '
v. Draw the electric field lines for an isolated p
point charge. Py
vi. Whatis the impact of ICT in education? -
vii. What is the difference between data and proce
vii. Why optical fiber is more useful tool for the s
communication process? e
4.  Write short answers of any five pas the following:  (2x5=10)
i Sl g
i, _b;rlf!..lkkf J y4 gz f/'/d‘l/_; i
i, St lonnT e & 2210004 55 i
iv. kiR N
v. -u:‘j S ndwldin sy fifibegs Y
Vi, vg_l[utMBq mBq &J}{’J F'fg/r'l] .{1 i
Vil nis? seapfeutthdig, i
vill UronS Ny folr s S5t g b e MU e ond P VI
’ : » (122
Note:  Answer any twosuestions from the following:  (9x2=18) S f iz Ly J o
S L Tt o gt et 0 S P st B ) 09
(b)) What is wavelength of the radio waves transmitted by /3y fsst-c b i iprdh SOOMHZS 17 ficn i (0)
e \Vnere DY, andspeedol. - s ':3;(1o%?ﬁ»:&i:ﬁ.mﬁ;:1ogé 1
6.(a) Whatis flow of informations? Explain with the help of diagram. _/ fie {1 Aeotoafite s pV e e Lo (@)
O Ypipranct e o ppierolgondis  Shun0 B eSO
1— 7.(a) Whatis electric motor? Expiain the working principie of D.Cmotor.  _ s . Jrwi /. r{[,},“;_uﬂ‘gg );J 0 (a)T
L e e b Rl e v
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11

The index of refraction depends on: St SAIKP A A 14

(&) Thefocallength s+f3 ()  The speed oflight ,Lr G

(C) Theimage distance 4&6L5! (D)
The working principle of photograph enlarger is the same, as:

(A) Slide projector 22424~ (B) Camera, (©
Two small charged sphere are separated by 2mm, which of

the following would produce the greatest attractive force? |
(A)  +lqand+4q  (B) Aqand4g
The unit of e.m.f which is equal to volt in S-| system is:

(A) Je (B)

J
I:ﬁ;)/@"yuddf/ub.{lﬂ?a 5

(0)  BohAandB

Jm-t

Se bl Lot/ perfiififiogn 6

) +Momeltum ~ (0)  Energy g
AND ‘.'q..(}n ’ lp.".;é:l’(f-e _‘,:( i:;l?q/ Jl':"lgfgu;uf g
A gatesﬁ (C)  NORgads,®t (D)  NANDgates¥s

Which of the following is ng el ol 8

(A)  Amanging bros’ Manipulating t./3722  (C) Calculaingt/Pl> (D)  Gathering /i1

The halflife of a certain isalepe is 1 day. What

is the quantity of isotope after 2 days? nfas bt MNnll IdpcnliSIdS A G - 9

(A) One half Jz.(gmf:f (B) Onequater {zbxfozll  (C) Onesight f2bx18 (D) None of these 2 df'=_ 2ol

10.

i i istics of is i o s s s
g::g:lh :;ﬂ;efollowmg characteristics of a wave is independent of Fnl? 2 potor § P S Speitbizr A0

(A) Speed Lr B8) Frequency gf'£) (C) Amplitude 3¢ &5 D)  Wave length ;:-”;:
The number of vibrations of a vibrating body in one second is called: ISR i LSS 1
(A  Frequency £/ (B)  Ampitude 524 (C) Vibration %41, (D) Displacementu2t";

For a normal person, audible frequency range for second wave lies between: :.;_,MJ 7y Jﬁ,v:zkdwi&u,fruu_(: 12

(A)  10Hz-10KHz (B) 20Hz-20KHz (C)  25Hz-25KHz (D) 30Hz-30KHz
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SECTION-| i ;
2 Write short answers of any five parts from the following: _ (2x5=10) ek Linbebitdis 2 |
i How can we see e printed words on a page? ' b by gy B LR i
ii. Draw aray diagrain of virtual image formed by piain mirror, _uﬂ;ﬂfgg_,J Eilgnlvic il
fi. How does the thickness of a lens affect its focal length? te 3/ o0t M SiSnderdA i
" bSmERAAy e Pelgllen
v. Define wave motion. s AT
vi.  Whatis meant by restoring force? Sedpegid bt N

vii.  Write names of any four ijgic operations. S LR G gs W M_

vill Define Boolean algebra. s A Aty Vi
3. Wite short answers of any fie parts from the following: (2x5=10) Loz ditdion 3
i. Define capacitance and give itg SI-Unit. i A 3 S i

i. What are any two hazards of stajic electricity?
ii. Define quality of sound and give 2 example:

iv. Write down four characteristics of sgund. v
v. Draw a label diagram of production o sound from @ Y
vibrating tuning fork.
vi. Give any two advantages of e-mail. i
vii. Whatis intemet? ¢ S aepi N
vili. Is electric intensity a vector quantity? ] direction? k- y 5 e y AT S Vi
4 Write short answers of any five pat i (2x5= P bz Linbedftdns 4
i. Define electric current and its unit L ST OIS
It g\sgqﬁf a ..u:f()" u'y J/d:l/(! ISz Ly 2 iRy 13IR1/' i
fi. Drawal strate the structure of W ke =ik AACE 24 Jr, A il
iv. Isit po o have different typ 7 A . BLss v
s ol o n S50 e ey R
v. What s difference betwee i jer and atomigAfass number? te T LA AT

YAV LTy T
el rain, whico*% I8 Kol LLf s B et S Uit p W) i

vi. Whatis an electron volt?
vil.  If a transformer is used tnsu?plyvo

28-10-A-
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vii. What is carbon dating? - te e Bl Vi

SECTIO (oo

Note:  Answer any two questions from the following: (9x22¢8) LIefchzlotenf 2 i

5.(a) Whatis total intemal reflection? Explain with diagram. Yoot s L Pre s afs @5 o

b) A simple pendulum completes one vibration in two =10ms?2 ! 2 0r R 2 Lk

& secongs. &cuiate it length where g=10 ms2 g1Oms N S fon oA s e ol i

6(a) What is meant by secondary storage memory’? ot S Mo LAk LA 8 ot o ie  (a)8

) Whet ls Moot by oo T el G s s apeinirsit €

(b) A sound wave has a frequency of 2KHz and wave - 35cmun2KHzZeE A g8 £ S s L (b) '
length 35cm. How long will it take to travel 1.5 km? S T2 Lo S b LK) 5kr-n

7.a) What is meant by haff ife. In one sample of half life 14 i lens i o S I EJE LIS Jua ()7 ;

G how the remainir’x’g atoms are Cacuiated? GAidniipum L S IRES j:,'« :‘—,l'/i‘,;jr ) @

ﬂ . = U 6K It 2

b) A step-up transformer has a tum ratios of 1:100. An 4108 P e 110025 S Ul U s U b

W alternating su ﬁly of 20 v is connected across the 1 '!6;':(,{'5;.»("1 ;;O.f&f”?u:/ eligleiid o i

primary coil. What s the secondary voltage? AP E Tt e L eI L2 ;
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